WRITING BETTER PARAGRAPHS - 4
Here is a simple formula for writing a paragraph that is 4 sentences long:

(Sentence 1) Here’s my POINT:

(Sentence 2) Here’s WHAT I mean:

(Sentence 3) Here’s WHY I mean it:

(Sentence 4) Here’s the BOTTOM LINE:

If we use this formula to write a paragraph about the effects of smoking on fitness, we might come up with:

Here’s my POINT: Smoking seriously affects a person’s physical fitness.

Here’s WHAT I mean: Inhaling cigarette smoke will drastically reduce lung capacity over a period of time.

Here’s WHY I mean it: This is because tar and other harmful chemicals clog the air passages so that a person’s ability to breathe deeply is severely restricted.

Here’s the BOTTOM LINE: Consequently, smokers find it impossible to exercise properly when they have to constantly gulp for air.

HOW DO WE KNOW IF THIS IS A WELL-WRITTEN PARAGRAPH?

1. Apply the hand-in-glove test.

[Sentence 4 should fit straight after Sentence 1 like a hand fits into a glove. That is, if we read Sentence 1 then Sentence 4, it should be linked and make sense.]


2. Highlight words that have negative connotations.

List them here:
__________________________________________




__________________________________________




__________________________________________




__________________________________________




__________________________________________




__________________________________________




__________________________________________

A LEXICAL CHAIN of words means that the paragraph is coherent and connected.

PRACTICE

In pairs, write a paragraph about the DANGER or COST of smoking or the effects of smoking on HEALTH.

We are going to write about DANGER / COST / HEALTH.  (Circle one)

Here’s our POINT:

Here’s WHAT we mean:

Here’s WHY we mean it:

Here’s our BOTTOM LINE:

__________________________________________________________________________

How do we know if this is a well-written paragraph?

1. Apply the hand-in-glove test.


2. Highlight words that have negative connotations.

3. List them here:  

